Turbulent Flows

Stephen B. Pope Cambridge University Press (2000)

Solution to Exercise 3.30

Prepared by: Chunhui Liu

Date: 2015.12.26

Based on chain rules, we have

$$\frac{\mathrm{d}u(t+s)}{\mathrm{d}(t+s)} = \frac{\partial u(t+s)}{\partial t} = \frac{\partial u(t+s)}{\partial s}.$$
(1)

$$\frac{\mathrm{d}^2 u(t+s)}{\mathrm{d}^2(t+s)} = \frac{\partial^2 u(t+s)}{\partial t^2} = \frac{\partial^2 u(t+s)}{\partial s^2}.$$
(2)

So we have

$$B(s) = \langle \dot{u}(t)\dot{u}(t+s)\rangle$$

$$= \langle \frac{\mathrm{d}u(t)}{\mathrm{d}t}\frac{\mathrm{d}u(t+s)}{\mathrm{d}(t+s)}\rangle$$

$$= \langle \frac{\partial}{\partial t}\left(u(t)\frac{\partial u(t+s)}{\partial t}\right) - u(t)\frac{\partial^2 u(t+s)}{\partial t^2}\rangle$$

$$= \frac{\partial}{\partial t}\langle u(t)\frac{\partial u(t+s)}{\partial t}\rangle - \langle u(t)\frac{\partial^2 u(t+s)}{\partial t^2}\rangle$$
(3)

Since u(t) is a statistically stationary process

$$\frac{\partial}{\partial t} \langle u(t) \frac{\partial u(t+s)}{\partial t} \rangle = 0.$$
(4)

So it can be shown that

$$B(s) = -\langle u(t) \frac{\partial^2 u(t+s)}{\partial s^2} \rangle$$

$$= -\langle \frac{\partial^2}{\partial s^2} (u(t)u(t+s)) \rangle$$

$$= -\frac{\partial^2}{\partial s^2} \langle (u(t)u(t+s)) \rangle$$

$$= -\frac{d^2}{ds^2} \langle (u(t)u(t+s)) \rangle$$

$$= -\frac{d^2 R(s)}{ds^2}$$
(5)

This work is licensed under the Creative Commons Attribution-NonCommercial-ShareAlike License. To view a copy of this license, visit http://creativecommons.org/licenses/by-nc-sa/1.0 or send a letter to Creative Commons, 559 Nathan Abbott Way, Stanford, California 94305, USA.